Angles in Triangles and Polygons

Solution

4. A
*AB=AC

ZABC = ZACB
x =2y
ZABC+ ZACB = ZBAD (ext. Zof A)
2y +2y = 144°
y=36"

5. A

.* AB =AC (given)
». LACB = ZABC = 53° (base Zs, isos. A)
ZBAC = 180" — 53° X 2 (£ sum of A)
ZBAC =74"
ZCAD = ZBAC = 74°
m = 180° —62° — 74° (£ sum of A)
=44°

6. A
.* AB =AC (given)

.. ZABC = ZACB (base Zs, isos. A)

ZBAD = ZCAD = 20°
oy 180°—20°x2 _

> 70

7. A
» AE= AD (given)

.. ZLAED = ZADE (base Zs, isos. A)

=M(LsumofA)

=73°
ZAEF+ ZAED = 180° (adj. Zs on st. line)
ZAEF = 107°
107°

4BEF = == 53.5°

Z/BFE = 180° — 105.5° — 53.5° (£ sum of A)
/BFE =21°
Z/CFE + ZAEF = 180° (int. Zs, AE // CF)
n+21°+107° = 180°
n=>52°
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